
Answer key special Exam -3
1. a)IrX-y-t_m[w IqSmsX h√Xpw sNbvXp

   Xo¿°pI

2. b) t`Z-KXn

3. b) Ab-bv°p∂ Bƒ

4. a) Ite-i≥

5. d)D¬]-XnjvWp

6. b) I¿Ω-[m-c-b≥

7. c) ]pgpßn

8. a) kw⁄m-\maw

9. b) CS-t»cn

10. b) Xmt°m¬

11. b) met

(Yesterday F∂ hm°v simple past tence s\
kqNn-∏n-°p∂p.

           simple past  → sub + V2)

12. b) sheep

  (sheep s‚ singular Dw plural Dw sheep Xs∂-
bmW.v)

13. a)  furniture

(Singular and plural form - furniture)

14. c)  lion-lioness

       (a‰p-≈h  Singular plural Lion-lioness  musculine

- feminine gender BWv)
15. b) a nice old stone

  (The order of Adjective qualifying a noun - opin

ion + size + shape + age + colour + noun)

16. a) bated

17. d) altercation

18. a) Lair

19. c) Fluorescent

20. d) Fourty

21. c) The doctor told me to take the tablets before meals

(Imperative sentence report sNøp-tºmƒ

 Reporting verb - Tell, order, warned, advise....

conjuction   -   to/not to)

22. a) written

(Just present perfect s‚ time word

           sub + has/have + V3

23. c) has been staying

Present perfect continous s\ kqNn-∏n-°p∂p

Sub + has/have + been + V + ing + since/for + time

24. a) will have finished

by + time h∂m¬ future perfect tence

will/shall + have + V3

25. c) When I was leaving for Bangalore

Question word + sub + V

26. c) since

since + point of time

27. d) neatly

28. b) Apiary,Aviary

29. c) Hygiene

30. b) have made

                     Two times

                   Three times

              So many times

+ present perfect

 sub+has/have+V
3

}



Maths Explanation

31. b) 960
hmßnb hne = hn‰-hne    × 100
                 100-˛-\-jvS%
                = 720 × 100
                   100-˛25
                = 7200   = 960
                  75

32. d)40
5+10+15+20+x  = 18
       5
         50+x  = 18 × 5
               = 90
            x  = 90-˛50
               = 40

33. c)11
c≠m-asØ kwJy  = a + d   = 8 →  (1)
\mem-asØ kw-Jy = a + 3d  = 2 →   (2)
                    (2)-(1) ⇒     2d = -6

          d = -3

 ∴ BZy kwJ-y, a-d  =  8- (-3)
   =  8+3
   = 11

34. d)10,000
apX¬ Fs∂-Sp-°pI
   

 CI = x (1+10  )
2
 -x

                                  100
              =  21x

                                 100
          SI =  x × 10  × 2   =  x

/5

    CI-SI = 21x 
-
  x  

=
    x

                 100    5      100
     x/100 = 100
            x = 10000

35. b)49cm
D]-cn-Xe hnkvXo¿Æw  = 6a2

                  ∴ 6a2  = 14406
                                a2    = 14406

   6
                        a2  =  2401
                        a  =  √2401 = 49

36. d)840
    2 2, 3, 4, 5, 6, 7, 8

              2 1, 3, 2, 5, 3, 7, 4
   3  1 3, 1, 5, 3, 7, 2
      1, 1, 1, 5, 1, 7, 2
    2× 2× 3× 5× 7× 2 = 840

37. a)14
ekm-Kp = -Kp-W-\-^ew
             DkmL
          = 28/2    =14

38. c) 36π

ka-N-Xp-c-°-´-bpsS Hcp h°ns‚ \ofw
= tKmf-Øn‚ hymkw
tKmf-Øns‚ hymkw = 6 sk.an
             Bcw (r) = 3 sk.an
              hym]vXw= 4/3 πr3

  = 4/3×π × 3×3×3
  = 36πcm3

39. a) c) 36πcm3

tKmf-Øns‚ hym-]vXw = 4/3πr3

   = 4/3×π × 3×3×3
   = 36π

40. b) E
Db-c-{I-a-Øn¬
           C
           B
           D
           A
           E

41. c) _p[≥
      2000 Unkw-_¿ 11 →   Xn¶ƒ
      2001 Unkw-_¿ 10 →   Xn¶ƒ
      2001 Unkw-_¿ 11 →   sNm∆
      2001 Unkw-_¿ 12 →     _p[≥

42. c) s^{_p-hcn 6

BsI Ah[n Znh-k-ßƒ = 17
s^{_p-hcn 5 hsc Ah-[n-bm-bn-cn°pw
s^{_p-hcn 6 \v kvIqƒ Xpd°pw

43. b)10
UnkvIu≠v iX-am\w = \jvS-i-X-am\w
= 80  ×100  800
=10%

44. d) 11000 cq]

x
 (100 + P)  

= 8000 × 110/80     100 - L
                       = 11,000

45. b) 744,984,1224
kwJ-y-Iƒ = Awi-_‘w × DkmL
     31 ×24 = 744
    41 × 24 = 984
     51 ×24 = 1224

46. c) 33
a, b, c Ch AP bnse XpS¿®-bmb ]Z-ß-fm-bm¬
   b = a + c
            2
  ∴ b  = 

 24+42     =  66/2 = 33
                    2

47. a) 19
BsI = (10+10)-˛1
        = 20-˛1 = 19

48. b)1.4826
icm-icn = XpI/FÆw
          = 7.413/5
          = 1.4826

49. b) sk]vXw-_¿
_m°n-bp≈ amk-ßƒ°v 31 Znhkw

50. c) 12
2 2, 3, 4
  1, 3, 2
ekm-Kp = 2 ×1 ×3 × 2  = 12

 100


